ARNYN=VYTY K 2024-01-19

R412010335

Bl — &
T750F E¥
MBI1ZY N 2 1@
ES 0.005 kg
MaE NIy AF=IL, 70LXY F
rE /NI T BRABREBNNTATR—F Y RN%E
RTVT7INES R412010335

m

Q < \

AN
SW
D
C
77)?%)% A 2B © D SW

R412010335 M8x1 11 12 - -

&

EMERSON.



ANYN=VYTY N

2024-01-19
R412010335

77;11)%- A oB c D SW
R412010336 |  M10x1 14 15 - -
R412010337 | M12x1 16 20 - -
R412010338 | M14x1,5 18 20 6 15
R412010339 |  M20x1,5 25 35 8 22
R412010340 | M25x1,5 30 38 10 30
1820360039 |  M8x1 10 6 12 -
1820360040 |  M10x1 12,5 10 20 -
1820360041 |  M12x1 15 10 20 -
1820360042 | M14x1,5 17 8 20 15
1820360043 | M20x1,5 24,8 13 25 22
1820360044 | M25x1,5 30 16 32 27

A

&

EMERSON.

2



